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TB(2B) Ch. 8 Laws of Integral Indices
Multiple Choice Questions

1. [11-12 STest?]
Find the value of (2 x 10%%)= and express the answer in scientific notation.

A. -8x10" B. 0 C. 0.125x10™® D. 1.25x107'%®

2. [11-12 STest2?]

Which of the following(s) is/are true?
l. 116> 110> 12
1. 0.012>0.110
1. 1916 +116 = 2016

A Il only

B I and Il only

C. I and 111 only

D Il and 111 only

3. [11-12 S. Test 2]

an+1 % al—n -1
a

2-n
A. % B. 2 C. 2a"* D. 2a*"
2a" 2
4. [11-12 Final Exam #16]
25616 =
A. 10101102 B. 1101010012 C. 1000000002 D. 10010101102

5. [12-13 S. Test 2]
-2
Simplify (—gaob‘lcsj .

9b? 4h?
A e S o

4h? 9b?
C. — D. —

9c 4c

6. [12-13 S.Test 2]

Find the value of 5010 — 2F16 + 1011>.
A. 1210 B. 110110
C. 11002 D. Eis
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7. [12-13 Final Exam #3]

Write 5x16* +13x16° +2x16%+8 as a hexadecimal number.
A. 5D2081s6) B. D502816)
C. D50280(s) D. D5020816)

8. [12-13 Final Exam #4]
0.2x10%% +0.3x 107" =

A. 0.5x10.

B. 0.5x10%%,
C. 0.6x10%3,
D. 3.2x10%*%,

9. [13-14 S.Test 2 #2]
Solve 4(2*): L forx.
16

A -6
B. -2
C. 2
D. 4

10. [13-14 S.Test 2 #6]
Simplify 9*2+3** |

27

93—3a

31—3&

32—2&1

SO w»

11. [13-14 S.Test 2 #7]
Which of the following has/have the same value as 4(2% +2*+2°)?

I. 1000100012
1. 44416

I11. 109210

A. lll only

B. Iland Il only
C. land Il only
D. land Il only

12. [13-14 S.6 Mock Exam #7]
Convert 110010x0y1, into denary number.
A. 801+ 8x+2y
B. 407 +8x+ 2y

C. 1602 + 16x + 4y
D. 417 +16x + 4y
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13. [13-14 Final Exam #13]

162a . 95a _
47&
A. 6
C. 26a . 310&

14. [13-14 Final Exam #19]
3x 28 +2° +4x2% =

101000100¢) .
1101010000¢) .
1101000100¢)
1101010100

oCow>»

15. [13-14 S.6 Mock Exam #2]

3 2
(aAb_‘lJ

Simplify =
1
A —
azb’
1
aZ
B. b_7
1
aZ
C. b_g
1
D. —
a2b°®

16. [13-14 S.6 Mock Exam #7]
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B.
D.

Convert 110010x0y1, into denary number.

801 + 8x + 2y
407 + 8x + 2y
1602 + 16x + 4y
417 + 16x + 4y

OO w>»

620a
28a . 310&
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17. [14-15 Standardized Test #3]

11110-1112 =
A. 0. B. 68i1s.
C. 68ui0. D. 1101001>.

18. [14-15 Standardized Test #6]

(6 f () +[o6°)f =

3a 3a
A. > . B. > .
4
2a 2a
C. 25 : D. 25 .
2 4

19. [14-15 S.6 Mock Exam #1]
(p+2p+3p+4p)°
p-2p-3p-4p

A 24.

2
B, 2P

20. [14-15 S.6 Mock Exam #32]
11010110112 =

A. 3x2°+5x2%+11.

B. 3x22+5x%x24+5,

C. 13x2"+2°+5x2?2-1.
D. 13x26+2%+11.

21. [14-15 Final Exam #5]
Arrange the followings in ascending order.

I. 1110012

Il. 3Ass

Il. 5610

A. I<ll<lIl B. <<l
C. llI<i<ll D. <<l
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22.

23.

24,

25.

26.

[14-15 Final Exam #16]
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Calculate 35.4x10%" —3.18x10°"" and express the answer in scientific notation.

A, 3.222x10%°

B. 3.222x10%Y
C. -2.826x10%
D. -—2.826x10%

[15-16 Final Exam #4]

Calculate 8.3x10%® —50x10°" and express the answer in scientific notation.

—4.17 x10%*®
3.3x10%
33x10%%
3.3x10%"6

Cowp

[15-16 Final Exam #11]
BO00000F0001416 =

11x16% +15x16° +14.
11x16™ +15x16° +20.

Cow>»

[15-16 S.6 Mock Exam #1]
(32’

3a‘

2a2.
2a.
3a’.
3a.

COow»

[15-16 S.6 Mock Exam #32]
2 x 2 _x_2=

A, 304-2.

B. 2x*4

C. 16

D. 15(20-2.

11x16" +14x16° +1x16* +4x16°.
11x16" +14x16° +1x162 + 4 x16%.
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27. [16-17 S.6 Mock Exam #33]
A5000BEEF009716 =

A. 165 x 162 + 48879 x 16° + 97.
B. 181 x 16 + 53248 x 16° + 97.
C. 165 x 16 + 48879 x 16* + 151.
D. 181 x 16 + 53248 x 16 + 151.

28. [16-17 S.6 Mock Exam #1]

(_1)2017 . 272016 _
9

1
A. _32014 :
1
B. _92015 :
_go0u4
D. _92015 )

29. [15-16 Standardized Test #5]
Convert the decimal number 2% +2% +27 +2°+7 to a binary number.

A. 1100011000111,
B. 1100011000011,
C. 11000011000111,
D. 11000011000110,

30. [15-16 Standardized Test #4]

Simplify —(i;fio))gl
c a“lb3

1
D. a’h~c
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31. [15-16 Standardized Test #9]

3"+3M%
A 4

B. 3.

C. 1+4"%.
D. 4.3"2,

~End ~
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